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Überführung
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Bauwerk 41.04Ü 
Fledermausquerungshilfe 

Bauwerk 41.05Ü 
Überführung L 235 

Bauwerk 41.06Ü 
Überführung
Schwiederstorfer Weg/
Fledermausquerungshilfe 

Bauwerk 41.07 
Unterführung Oheweg/
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Bauwerk 41.08Ü 
Überführung
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Bauwerk 41.09Ü 
Überführung
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Zeichenerklärung 

 

Damm 

Einschnitt 

Ausrundungsbeginn Kuppe / 
Ausrundungsende Wanne 

Gradiententiefpunkt 

Gradientenhochpunkt 

Längsneigung und
Abstand zum nächsten
Neigungsbrechpunkt 

Neigungsbrechpunkt
mit Angabe von:
Ausrundungshalbmesser,
Tangentenlänge,
Stichhöhe,
Bau-km,
Höhe Tangentenschnittpunkt 

H     =    15 000 m
T     = 362,155 m
f      =      4,372 m
km     0+601.335
hTS=  415,868 m 

1,50 % 0,70 % 
 1 531,00 m 725,00 m 


